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QUESTION 1

Which of the following actions make a PC more energy efficient? 

A. Disabling stand-by settings. 

B. Enabling active power management. 

C. Enabling active screen savers. 

D. Disabling CPU throttling features. 

Correct Answer: B 

 

QUESTION 2

How much energy is used by a PC screen saver? 

A. Half the power of a standard office application. 

B. One third the power of a standard office application. 

C. The same as a standard office application. 

D. Twice the power of a standard office application. 

Correct Answer: C 

 

QUESTION 3

Virtualised computing resources are delivered dynamically. What does this mean? 

A. The resources are delivered only when they are needed. 

B. The resources are delivered with very high throughput. 

C. The resources are delivered with very low CPU utilisation. 

D. The resources are delivered with no storage requirement. 

Correct Answer: A 

 

QUESTION 4

Which of these is not an example of a Carbon Offsetting scheme? 

A. Supplying new solar cookers in Indonesia. 

B. Providing new for old car tyres in the United Kingdom. 
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C. Generating hydropower without dams in Fiji. 

D. Making electricity from landfill in South Africa. 

Correct Answer: B 

 

QUESTION 5

Which of the following is a benefit of adopting green IT within an organisation? 

A. Creating a culture of team-based working. 

B. Promoting a culture of maximum productivity. 

C. Establishing a culture of total innovation. 

D. Developing a culture of social responsibility. 

Correct Answer: D 
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